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A Fi LR AR H KB AE tEhRe TN )
JLiRG HAFRK 5 s Aol ] R e el EBA] s SEH () [ (&)
fegk| 48,876| 109, 422] 53, 186] 56, 236 500 41 64 43 107 23] 454 431 0 111 111
HI—TH 698[l 1,478 719 759 -1 -1 0 1 1 -1 2 3 0 4 4
F T H 563 1,297 645 652 0 0 0 0 0 0 6 6 0 0 0
FLL=TH 472l 1,048 503 545 3 -1 -3 0 3 1 2 1 1 1 0
JubaEt] 1,733 3,823 1,867| 1,956 2 -2 -3 1 4 0 10 10 1 5 4
o —TH 477 932 436 496 3 2 0 0 0 3 6 3 -1 0 1
oA T H 725 1,689 811 878 2 0 -2 0 2 -2 4 6 4 5 1
SR —TH 557 1,286 613 673 1 -2 -1 0 1 0 3 -1 0 1
e w1 H 398 877 436 441 5 5 0 1 1 5 3 0 0 0
SN 611 1,321 637 684 -1 -1 0 0 0 2 10 8 -3 0 3
e BN T B 238 502 250 252 0 1 1 1 0 -2 2 2 2 0
Rt H 639 1,632 791 841 -2 -3 —4 0 4 1 2 0 0 0
g\ T H 382 831 383 448 -1 -3 0 2 2 -3 9 0 0 0
B NILT B 619 1,466 718 748 -2 -3 0 1 1 -1 3 -2 0 2
Mo naEtl 4,646 10,536] 5,075 5,461 5 —4 -6 5 11 3 42 39 -1 7 8
HekrBn—TH 358 806 398 408 -2 -7 -2 0 2 -3 1 4 -2 0 2
w7 Hl 1,013 2,086 1,047 1,039 -1 -6 -6 0 6 -1 3 4 1 1 0
WSy R =TH 680| 1,388 683 705 2 3 -1 0 1 3 4 1 1 1 0
waE o Etl 2,051 4,280 2,128| 2,152 -1 =10 -9 0 9 -1 8 9 0 2 2
Mk AT H 556( 1,240 599 641 5 2 0 0 0 4 7 3 -2 0 2
Mk A _TH 365 926 469 457 1 2 1 1 0 0 3 3 1 1 0
MR =TH 247 537 277 260 -2 —4 0 0 0 —4 2 6 0 0 0
s RN TH 565| 1,305 667 638 0 1 0 0 0 1 3 2 0 0 0
sk aaEt] 1,733 4,008] 2,012] 1,996 4 1 1 1 0 1 15 14 -1 1 2
SELigY] 372 845 403 442 -1 -2 0 0 0 -8 1 9 6 6 0
HoE ) — T H 211 430 218 212 -2 —4 0 0 0 —4 3 7 0 0 0
HOEEFI T H 427 937 463 474 -1 —4 -2 0 2 -1 2 3 -1 1 2
HOEE) T H 691 1,674 823 851 1 -1 -1 1 2 -1 4 5 1 2 1
HOEESOPI T H 804 2,021 998| 1,023 0 -5 -3 0 3 —4 1 5 2 3 1
HOEEO T H 4421 1,030 520 510 -1 -6 -3 0 3 -3 0 3 0 0 0
OSSN T H 397 870 428 442 0 —4 -3 0 3 -2 10 12 1 1 0
HoERIIE T H 679 1,445 707 738 3 -5 -1 0 1 -4 5 9 0 0 0
HOEESOSE 3,651 8,407 4,157| 4,250 0l -29f -13 1 14 -19 25 44 3 7 4
vaEEe| 1,512 2,758 1,317 1,441 -5  -17 -5 0 5 -2 5 71 -10 0 10
FHIAR 302 636 328 308 0 1 -1 0 1 2 2 0 0 0 0
I g — T H 542 1,105 510 595 -5 -9 1 2 1 -6 4 10 —4 0 4
EFIA g T 258 520 260 260 0 0 0 0 0 1 2 1 -1 0 1
BRSO =T H 534| 1,173 583 590 2 -1 -1 0 1 0 1 1 0 0 0
EEFI g0 T 656 1,301 616 685 -3 -7 -1 0 1 -3 2 5 -3 0 3
IO T H 237 541 270 271 -1 2 -1 0 1 5 5 -2 0 2
EED A2 2,227 4,6400 2,239 2,401 -7l -15 -2 2 4 -3 14 17 -10 0 10
T EFI AT — T H 734 1,428 686 742 27 32 0 1 1 29 46 17 2 6 4
EEFIA AT — T H 672 1,290 598 692 2 8 -1 0 1 5 12 7 4 5 1
EEDARRT AR 1,406| 2,718 1,284 1,434 29 40 -1 1 2 34 58 24 6 11 5
IR 271 775 421 354 -1 3 0 0 0 3 4 1 0 0 0
HHR—TH 7250 1,639 806 833 0 -2 1 1 0 —4 2 6 1 1 0
RR T H| 1,736 3,940 1,901] 2,039 -2 -3 3 4 1 -1 16 17 -5 3 8
HHR=TH 871 2,208 1,073 1,135 -1 0 1 1 0 -1 0 0 0
HHRPY T H 4971 1,205 566 639 0 7 1 1 0 1 5 5 0
PR EEF 3,829 8,992 4,346| 4,646 -3 2 6 7 1 -5 27 32 1 9 8
EHR—TH 724 1,586 774 812 0 -2 0 2 2 -2 0 1 1
PR _TH 938 2,216 1,110/ 1,106 —4 -8 1 1 0 —4 -5 0 5
LR =TH 513 1,076 557 519 6 7 -1 0 1 9 22 13 -1 0 1
b REE | 2,175 4,878] 2,441 2,437 2 -3 0 3 3 3 30 27 —6 1 7
HRORTHT 329 811 390 421 -1 -2 0 0 0 -3 2 5 1 2 1
el 1,619 5,081 2,253 2,828 -5  -12 -3 1 4 -11 24 35 2 5 3
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A Fi LR AR H KB AE tEhRe TN )
JLi I 5 ik Aol ] Rl e e EAl EsHl SEH (H) [ (=)
MAE—TH 742 1,699 811 888 -1 -8 -2 0 2 -1 5 6 -5 0 5
e T H 759 1,793 894 899 -1 ~7 -2 0 2 -7 3 10 2 2 0
MAE — 1 H 641| 1,493 738 755 -4 -11 -2 0 2 -5 3 8 —4 0 4
F#E T H 932 2,196 1,034| 1,162 0 5 1 1 0 3 4 1 1 2 1
RICENNE 656| 1,483 732 751 3 5 1 1 0 5 7 2 -1 1 2
F#E ST H 417 970 452 518 0 1 1 1 0 -3 0 3 3 3 0
s SR 4,147 9,634] 4,661 4,973 -3|  -15 -3 3 6 -8 22 30 —4 8 12
L 572|l 1,139 556 583 6 5 -1 0 1 -1 5 6 7 7 0
g —TH 319 687 331 356 4 6 -1 1 2 7 9 2 0 1 1
i = 597 1,318 625 693 1 1 -1 0 1 0 3 3 2 3 1
RN 916 2,005 956 1,049 5 7 -2 1 3 7 12 5 2 4 2
Ei—TH 313 691 351 340 2 3 1 2 1 -1 2 3 3 3 0
= 658 1,385 650 735 2 6 -3 0 3 4 4 0 5 6 1
=T H 415[ 1,072 536 536 2 1 -1 0 1 3 3 0 -1 1 2
wEhaat| 1,386 3,148 1,537 1,611 6 10 -3 2 5 6 9 3 7 10 3
K E— T H 386 918 431 487 2 4 0 0 0 4 4 0 0 0 0
e T H 448| 1,083 540 543 1 1 1 1 0 -1 0 1 1 4 3
HHE T H 833 2,035 1,040 995 3 -1 -5 0 5 3 6 3 1 1 0
HA)EM T H 444| 1,017 495 522 0 1 -1 1 2 1 3 2 1 2 1
HHE R T H 830] 1,800 890 910 3 5 -2 1 3 7 10 3 0 0 0
W) E ST H 243 502 253 249 -2 -6 -1 0 1 —4 1 5 -1 0 1
HESE 3,184 7,355 3,649 3,706 7 4 -8 3 11 10 24 14 2 7 5
<HBEL—TH 597| 1,342 647 695 -2 -3 0 1 1 -3 6 9 0 0 0
<HBEIL—TH 710[ 1,479 718 761 1 3 0 1 1 3 5 2 0 0 0
CHEL=TH 510/ 1,119 548 571 -2 —4 -1 0 1 -3 3 6 0 0 0
<HBEWPUT H 575[ 1,176 576 600 5 2 0 2 2 2 3 1 0 0 0
<HBEHTH 278 614 331 283 -2 —4 -1 0 1 -5 1 6 2 2 0
<EEE 2,6700 5,730] 2,820 2,910 0 —6 -2 4 6 —6 18 24 2 2 0
HEAIT—TH 792l 1,692 828 864 1 4 0 1 1 4 10 6 1 1 0
PIEAN T H 479 1,130 581 549 -2 ~7 0 1 1 1 3 2 -8 0 8
WIEARTAE L2710 2,822 1,409| 1,413 -1 -3 0 2 2 5 13 8 -7 1 8
s 405 778 370 408 0 4 1 1 0 4 7 3 -1 0 1
ek n—TH| 1,162 1,828 843 985 -5 —4 0 2 2 0 15 15 —4 1 5
ok A _ T H 466 773 379 394 -3 -6 1 1 0 -1 2 3 -6 0 6
oSk R=TH 708 1,752 825 927 8 4 0 0 0 2 16 14 2 3 1
sk AT H 417 862 408 454 6 6 -1 0 1 6 9 3 1 3 2
gk ansitl 2,753 5,215| 2,455 2,760 6 0 0 3 3 7 42 35 -7 7 14
FRIREET 21 53 28 25 0 0 0 0 0 0 0 0 0 0 0
Ry 747 1,729 833 896 -1 0 -3 0 3 0 8 8 3 4 1
GREA ] 326 732 334 398 1 1 -1 0 1 2 2 0 0 0 0
A — T H 450 1,102 550 552 3 -1 0 0 0 -2 4 6 1 1 0
ReEE T H 408 919 451 468 0 1 -2 0 2 4 7 3 -1 0 1
WA A g 858 2,021 1,001 1,020 3 -2 0 2 2 11 9 0 1 1
PaeEE— T H 696| 1,421 711 710 4 -1 1 2 3 6 3 0 0 0
P T H 538l 1,281 600 681 -3 —4 1 1 0 -5 0 5 0 0 0
VR Et] 1,234 2,702 1,311 1,391 1 -2 0 2 2 -2 6 8 0 0 0
P A e 322 690 350 340 5 -3 0 3 4 8 4 4 4 0
AR 208 481 255 226 -2 -1 0 1 -1 0 1 0 0 0




